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7KH�LPSRUWDQFH�RI�WKH�EDQNLQJ�UROH�IRU�QDWLRQDO�HFRQRPLF�JURZWK�DQG�ULVLQJ�ULVNV�

LQ� JOREDO� ILQDQFLDO� PDUNHWV� DQG� GRPHVWLF� LQWR� VLJQDO� DQG� GHPDQG� IRU� EDQNLQJ�

LQGXVWU\� SOD\HUV�� HVSHFLDOO\� ODUJH�VFDOH� EDQNV� LQFOXGLQJ� 37� %DQN� &HQWUDO� $VLD��

7EN�WR�SHUIRUP�PRUH�HIIHFWLYH�ULVN�PDQDJHPHQW��HVSHFLDOO\�LQ�WKH�SURGXFWLYH�FUHGLW�

VHFWRU� ZKLFK� LV� WKH� ODUJHVW� VRXUFH� RI� EDQN� LQFRPH� WR� PDLQWDLQ� ILQDQFLDO�

SHUIRUPDQFH� DQG� WR LPSURYH� WKH� YDOXH� RI� WKH� FRPSDQ\�� 7R� LPSURYH� WKH�

HIIHFWLYHQHVV�RI�SURGXFWLYH�FUHGLW�ULVN�PDQDJHPHQW���D�WKRURXJK�HYDOXDWLRQ�RI�WKH�

FXUUHQW� SURGXFWLYH� FUHGLW� ULVN� PDQDJHPHQW� V\VWHP� DQG� YDULRXV� LPSURYHPHQW� WR�

UHVSRQG WR�RSSRUWXQLWLHV�DQG�WKUHDWV�LQ�WKH�EDQNLQJ�LQGXVWU\�

.H\ZRUGV ��5LVN�PDQDJHPHQW��%DQN�FUHGLW��,QFUHDVH�LQ�YDOXH
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3HQWLQJQ\D� SHUDQ� SHUEDQNDQ� EDJL� SHUWXPEXKDQ� HNRQRPL� QDVLRQDO� VHUWD�

PHQLQJNDWQ\D� ULVLNR� GL� SDVDU� NHXDQJDQ� JOREDO� 	� GRPHVWLN� PHQMDGL� VLQ\DO� GDQ�

WXQWXWDQ� EDJL� SHODNX� LQGXVWUL� SHUEDQNDQ� NKXVXVQ\D� %DQN � %DQN� VNDOD� EHVDU�

WHUPDVXN� 37�%DQN�&HQWUDO�$VLD�� 7EN XQWXN�PHODNXNDQ�PDQDMHPHQ� ULVLNR� \DQJ�

OHELK� HIHNWLI�� NKXVXVQ\D� GL� VHNWRU� NUHGLW SURGXNWLI� \DQJ� PHQMDGL� VXPEHU�

SHQGDSDWDQ� WHUEHVDU� %DQN� JXQD� PHPSHUWDKDQNDQ� NLQHUMD� NHXDQJDQ� GDQ�

PHPSHUWDKDQNDQ� EDKNDQ� PHQLQJNDWNDQ� QLODL� SHUXVDKDDQ� 8QWXN� GDSDW�

PHQLQJNDWNDQ� HIHNWLYLWDV�PDQDMHPHQ� ULVLNR� NUHGLW� SURGXNWLI�� GLODNXNDQ� HYDOXDVL�

PHQ\HOXUXK�WHUKDGDS�VLVWHP�PDQDMHPHQ�ULVLNR�NUHGLW�SURGXNWLI�\DQJ�EHUMDODQ�VDDW�

LQL� GDQ� PHODNXNDQ� EHUEDJDL� SHUEDLNDQ� JXQD� PHQDQJJDSL� SHOXDQJ� PDXSXQ�

DQFDPDQ�\DQJ�DGD�GL�LQGXVWUL�3HUEDQNDQ�

.DWD�NXQFL � PDQDMHPHQ�ULVLNR��NUHGLW�SHUEDQNDQ��SHQLQJNDWDQ�QLODL


